SMTEETHRE

LA DER
GEETEME | THETEE %

1. % = = (24,967,000 (25,002,000)
o DR 2,800,000 2,800,000
BB ek 10,500,000 11,000,000
e 4 . 360,000 360,000
TR 1,650,000 1,800,000
w1 Bt 490,000 490,000
D77 FAZH & 1,856,000 1,392,000 | B A Mz
D77 FBAs {4 5,930,000 5,855,000 | AA @S
B SR 1,000,000 1,000,000 | H A RS
LERSFHIREE 381,000 305,000 |HAHE

2. B ¥ ® (2,579,000) (1,914,000)
EAREPEES (TS ) 450,000 450,000 | 15,000 X 3054
BEREHRS 525,000 £00,000 | 15,000 X 405F—A
HAEREET A K 384,000 384,000 | 12,000 X 32F—A
ERRTERTES 480,000 480,000 | 15,000 X 32F—A4
UloEFHERTES 500,000
U12IEFHERTES 240,000

3. ® B & (6,470,000) (9,690,000)
REHEI& 90,000 90,000 | EAF—VE<
wPE{LhEhe 5,180,000 7,000,000 | BB AR —VE EAFBRERE
R AR HL S A B 4 1,000,000 |BE AR —VE]
Vam T R{LABE 1,000,000 1,000,000 |BEDEAR—YER
TEEERmIE 200,000 100,000 | & AR — 8
EAREESEEN 500,000

4. ¥ X A (111,000 (601,000)
R AREES 60,000 60,000 {4,000 X 15{&
FATEMEE S 300,000
Fom B l— D — [ 50,000 50,000
BY—F L= ke 190,000
= BRI R 1,000 1,000 | TE&FIE

= 3 (34,127,000) (37,207,000)
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S HOER
OEETELE | THETER T =
1. 77 #H & (248,800) (248,800)
A aSmE e 70,000 70,000
BAR-VBEeSEE 178,800 178,800
e rHe 0 0
2. ® ¥ ® (2,503,500) (1,831,000)
EAREREZES (HREB L 440,000 440,000 | £¥HS 202,500
HEHS 35,000
EHE 202,500
BAIRIERS 507,500 575,000 | EZH= 270.000
HEHS 35,000
I 270,000
R A RS 384,000 384,000 | EEH= 153,600
FHRE 230,400
PRORFERTES 432,000 432,000 | EE%H= 216,000
gl E® 916.000
UlSEFEASETES 500,000
Ul2BFHERERTES 240,000
3. D—77F (2,687,000) (1,697,000)
EHEES 308,000 300,000 | Fy AP —F—EE=
EEETHES 218,000 382,000 | =7o17 2B =
BAFHEEEE 450,000 500,000 | —MEIERFAS
HPRA% - B 38 180,000 210,000 | Ul2HHPEAE
FHIGER 381,000 305,000 | ®EKEIRER
HPE5 - EH i 700,000 0| EWSHPERZE
EREESE 450,000 0| SEECEEEE IR T I
4, B (1,000,000) (1,000,000)
400,000 150,000 | Ul5U—HLEER
300,000 300,000 | UlSFENEEE
100,000 50,000 | ERFEESHFES
200,000 200,000 | #HEFEES
300,000 | 2EILER-FE oy AE
5. M LH (13,880,000) (16,430,000)
P e L 200,000 200,000 | fEEEERE
HEH TR RS 200,000 200,000 | FHERENE
R ARSHENR 350,000 350,000 | ek 150,000
IR g A KE 200,000
SR g N )k 300,000 300,000 | BESiTiaE
E AR E 8,430,000 10,680,000 | REAHE T 2,000,000

AR 2,000,000
AT 2,000,000
HEALT 2,000,000
EAFBREBEE 160,000
AR AEEEREHLA 1,000,000
a7k 1,000,000
Ut2s&{k 200,000




GEETHRE | TTRETES 1 =
HeEsg{kEdEd 100,000
U12FRE 100,000
A 120,000
AR = =7k 1,800,000 1,800,000 | REFEARY =Tk
Va7 LR 400,000 600,000 | U153&{k 400,000
U123k 200,000
1 AFREE 1,000,000 1,000,000 | z—2FRE
o By B} 900,000 1,200,000 | BEHHRME U128 FHE
fEgEE ARE 100,000 | ALE8LS A7 40-50 K=
5% 8 = & (4,651,000) (4,851,000)
ExAREESE 200,000 200,000
r—2AEREES 200,000 200,000
EHERS 1,200,000 1,200,000
HEZEAS 100,000 100,000
TOZES 400,000 400,000
fE AN B AR 600,000 600,000
RHEES 50,000 50,000
e NER 730,000 730,000 | B4RE50,000 - 7 #3480,000
U18hes 100,000 100,000 | I—7"%
U15%4 200,000 400,000 | SBE - EIHEIT)
Ul2¥£& 871,000 871,000 | Zx4aEL71,000/ BFHE - 1— B:1800,000
6. FERE (7,540,000) (9,520,000)
B F it & 1,200,000 1,800,000 [EELSSHRE
& % OB 100,000 300,000 |\ AR HESLSHE
SIGER 1,200,000 1,200,000 |EAR & ARBESIRE
EE R R 600,000 600,000 |EZ%, HEERLIED
A ERZEEeR 600,000 600,000 |BERTEH
tiEBHESE 200,000 200,000 |FrE 2@t
EBERAE 2,520,000 3,600,000 |E& R4
R 400,000 500,000 |#:£{REH}
# B EEE 720,000 720,000 |(EBFIFE
7. e br— KR (400,000) (200,000)
8. B kb & (200,000) (200,000)| £E k& L 5T MEE
9. B W & (50,000) (50,000)|Z=FEX
10, FHFLAR (81,000) (81,000) |[=F IR0 RFL(B9%H)
11. HREpSEEmILE (550,000) (550,000)| 1=
12, MEBSEEEES (250,000) 0
13. 18 b (350,000) (250,000)
14. F &5 & (298,200)
=y &t (33,581,300) (37,207,000)
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